## Ohio Public Utilities Commission

Application to Commit Energy Efficiency/Peak Demand Reduction Programs (Mercantile Customers Only)

Case No.: 14-0223 0023

Mercantile Customer:	Mercury Plastics, Inc (Plant 1) and NEO Beam
Electric Utility:	The Cleveland Electric Illuminating Company
Program Title or Description:	Continuous plant improvement to reduce Kwh usage

Rule 4901:1-39-05(F), Ohio Administrative Code (O.A.C.), permits a mercantile customer to file, either individually or jointly with an electric utility, an application to commit the customer's existing demand reduction, demand response, and energy efficiency programs for integration with the electric utility's programs. The following application form is to be used by mercantile customers, either individually or jointly with their electric utility, to apply for commitment of such programs in accordance with the Commission's pilot program established in Case No. <u>10-834-EL-POR</u>

Completed applications requesting the cash rebate reasonable arrangement option (Option 1) in lieu of an exemption from the electric utility's energy efficiency and demand reduction (EEDR) rider will be automatically approved on the sixty-first calendar day after filing, unless the Commission, or an attorney examiner, suspends or denies the application prior to that time. Completed applications requesting the exemption from the EEDR rider (Option 2) will also qualify for the 60-day automatic approval so long as the exemption period does not exceed 24 months. Rider exemptions for periods of more than 24 months will be reviewed by the Commission Staff and are only approved up the issuance of a Commission order.

Complete a separate application for each customer program. Projects undertaken by a customer as a single program at a single location or at various locations within the same service territory should be submitted together as a single program filing, when possible. Check all boxes that are applicable to your program. For each box checked, be sure to complete all subparts of the question, and provide all requested additional information. Submittal of incomplete applications may result in a suspension of the automatic approval process or denial of the application.

Any confidential or trade secret information may be submitted to Staff on disc or via email at <u>ee-pdr@puc.state.oh.us</u>.

## Section 1: Mercantile Customer Information

Name: Mercury Plastics, Inc

Principal address:15760 Madison Rd Middlefield Ohio 44062

Address of facility for which this energy efficiency program applies:15760 Madison Rd Middlefield Ohio 44062

Name and telephone number for responses to questions: Charles Hayes 1-440-632-5281

Electricity use by the customer (check the box(es) that apply):



The customer uses more than seven hundred thousand kilowatt hours per year at the above facility. (Please attach documentation.)

The customer is part of a national account involving multiple facilities in one or more states. (Please attach documentation.)

## Section 2: Application Information

A) The customer is filing this application (choose which applies):



Individually, without electric utility participation.

Jointly with the electric utility.

B) The electric utility is: The Cleveland Electric Illuminating Company

C) The customer is offering to commit (check any that apply):

XEnergy savings from the customer's energy efficiency program.<br/>(Complete Sections 3, 5, 6, and 7.)

Capacity savings from the customer's demand response/demand reduction program. (Complete Sections 4, 5, 6, and 7.)

Both the energy savings and the capacity savings from the customer's energy efficiency program. (Complete all sections of the Application.)

## Section 3: Energy Efficiency Programs

- A) The customer's energy efficiency program involves (check those that apply):
  - X Early replacement of fully functioning equipment with new equipment. (Provide the date on which the customer replaced fully functioning equipment, and the date on which the customer would have replaced such equipment if it had not been replaced early. Please include a brief explanation for how the customer determined this future replacement date (or, if not known, please explain why this is not known)). If Checked, Please see Exhibit 1 and Exhibit 2
    - Installation of new equipment to replace equipment that needed to be replaced The customer installed new equipment on the following date(s):
    - Installation of new equipment for new construction or facility expansion. The customer installed new equipment on the following date(s):

Behavioral or operational improvement.

B) Energy savings achieved/to be achieved by the energy efficiency program:

 If you checked the box indicating that the project involves the early replacement of fully functioning equipment replaced with new equipment, then calculate the annual savings [(kWh used by the original equipment) - (kWh used by new equipment) = (kWh per year saved)]. Please attach your calculations and record the results below:

Annual savings: 403,000 kWh

2) If you checked the box indicating that the customer installed new equipment to replace equipment that needed to be replaced, then calculate the annual savings [(kWh used by less efficient new equipment) – (kWh used by the higher efficiency new equipment) = (kWh per year saved)]. Please attach your calculations and record the results below:

Annual savings: kWh

Please describe any less efficient new equipment that was rejected in favor of the more efficient new equipment. **Please see Exhibit 1 if applicable** 

 If you checked the box indicating that the project involves equipment for new construction or facility expansion, then calculate the annual savings [(kWh used by less efficient new equipment) – (kWh used by higher efficiency new equipment) = (kWh per year saved)]. Please attach your calculations and record the results below:

## Annual savings: \_\_\_\_\_ kWh

Please describe the less efficient new equipment that was rejected in favor of the more efficient new equipment. **Please see Exhibit 1 if applicable** 

4) If you checked the box indicating that the project involves behavioral or operational improvements, provide a description of how the annual savings were determined. SEE ATTACHMENT

	Section 4: Demand Reduction/Demand Response Programs
A)	The customer's program involves (check the one that applies):
	Coincident peak-demand savings from the customer's energy efficiency program.
	Actual peak-demand reduction. (Attach a description and documentation of the peak-demand reduction.)
	Potential peak-demand reduction (check the one that applies):
	The customer's peak-demand reduction program meets the requirements to be counted as a capacity resource under a tariff of a regional transmission organization (RTO) approved by the Federal Energy Regulatory Commission.
	The customer's peak-demand reduction program meets the requirements to be counted as a capacity resource under a program that is equivalent to an RTO program, which has been approved by the Public Utilities Commission of Ohio.
B)	On what date did the customer initiate its demand reduction program?
C)	What is the peak demand reduction achieved or capable of being achieved (show calculations through which this was determined):

kW

## Section 5: Request for Cash Rebate Reasonable Arrangement (Option 1) or Exemption from Rider (Option 2)

Under this section, check the box that applies and fill in all blanks relating to that choice.

Note: If Option 2 is selected, the application will not qualify for the 60-day automatic approval. All applications, however, will be considered on a timely basis by the Commission.

A) The customer is applying for:

Option 1: A cash rebate reasonable arrangement.

OR

X Option 2: An exemption from the energy efficiency cost recovery mechanism implemented by the electric utility.

OR

Commitment payment

B) The value of the option that the customer is seeking is:

- Option 1: A cash rebate reasonable arrangement, which is the lesser of (show both amounts):
  - A cash rebate of <u>\$</u>\_\_\_\_\_. (Rebate shall not exceed 50% project cost. Attach documentation showing the methodology used to determine the cash rebate value and calculations showing how this payment amount was determined.)
- Option 2: An exemption from payment of the electric utility's energy efficiency/peak demand reduction rider.
  - An exemption from payment of the electric utility's energy efficiency/peak demand reduction rider for \_\_\_\_\_ months (not to exceed 24 months). (Attach calculations showing how this time period was determined.)

## OR

A commitment payment valued at no more than \$\_\_\_\_\_. (Attach documentation and calculations showing how this payment amount was determined.)

OR

Ongoing exemption from payment of the electric utility's energy efficiency/peak demand reduction rider for an initial period of 24 months because this program is part of the customer's ongoing efficiency program. (Attach documentation that establishes the ongoing nature of the program.) In order to continue the exemption beyond the initial 24 month period, the customer will need to provide a future application establishing additional energy savings and the continuance of the organization's energy efficiency program.)

## Section 6: Cost Effectiveness

The program is cost effective because it has a benefit/cost ratio greater than 1 using the (choose which applies):

- \_\_\_\_\_ Total Resource Cost (TRC) Test. The calculated TRC value is: \_\_\_\_\_(Continue to Subsection 1, then skip Subsection 2)
- Utility Cost Test (UCT) . The calculated UCT value is: **See Exhibit 3** (Skip to Subsection 2.)

## Subsection 1: TRC Test Used (please fill in all blanks).

The TRC value of the program is calculated by dividing the value of our avoided supply costs (generation capacity, energy, and any transmission or distribution) by the sum of our program overhead and installation costs and any incremental measure costs paid by either the customer or the electric utility.

The electric utility's avoided supply costs were \_\_\_\_\_.

Our program costs were \_\_\_\_\_.

The incremental measure costs were \_\_\_\_\_.

Subsection 2: UCT Used (please fill in all blanks).

We calculated the UCT value of our program by dividing the value of our avoided supply costs (capacity and energy) by the costs to our electric utility (including administrative costs and incentives paid or rider exemption costs) to obtain our commitment.

Our avoided supply costs were See Exhibit 3

The utility's program costs were See Exhibit 3

The utility's incentive costs/rebate costs were See Exhibit 3

## Section 7: Additional Information

Please attach the following supporting documentation to this application:

- Narrative description of the program including, but not limited to, make, model, and year of any installed and replaced equipment.
- A copy of the formal declaration or agreement that commits the program or measure to the electric utility, including:
  - 1) any confidentiality requirements associated with the agreement;
  - 2) a description of any consequences of noncompliance with the terms of the commitment;
  - 3) a description of coordination requirements between the customer and the electric utility with regard to peak demand reduction;
  - permission by the customer to the electric utility and Commission staff and consultants to measure and verify energy savings and/or peak-demand reductions resulting from your program; and,
  - 5) a commitment by the customer to provide an annual report on your energy savings and electric utility peak-demand reductions achieved.
- A description of all methodologies, protocols, and practices used or proposed to be used in measuring and verifying program results. Additionally, identify and explain all deviations from any program measurement and verification guidelines that may be published by the Commission.

# Ohio Public Utilities Commission

Application to Commit Energy Efficiency/Peak Demand Reduction Programs (Mercantile Customers Only)

Case No.: 14-0223-66-55EC

State of Ohio :

, Affiant, being duly sworn according to law, deposes and says that:

1. I am the duly authorized representative of:

## MERCURY PLASTICS, INC.

[insert customer or EDU company name and any applicable name(s) doing business as]

2. I have personally examined all the information contained in the foregoing application, including any exhibits and attachments. Based upon my examination and inquiry of those persons immediately responsible for obtaining the information contained in the application, I believe that the information is true, accurate and complete.

hur

Signature of Affiant & Title

Sworn and subscribed before me this	<b>7</b> day of	May , 2013 Mont	h/Year
Research Renoral Signature of official administering oath		Roowith Renoutch, Print Name and Title	Notary

My commission expires on <u>6-30-2015</u>

Roswitha Renovich Notary Public, State of Ohio My Commission Expires August 30, 2015 Recorded in Geauga County

#### Customer Legal Entity Name: Mercury Plastics, Inc

#### Site Address: Mercury Plastics, Inc Principal Address: 15760 Madison Rd, 15825 Old State Rd.

#### What date would you have replaced your

Project No.	Project Name	Narrative description of your program including, but not limited to, make, model, and year of any installed and replaced equipment:	Description of methodologies, protocols and practices used in measuring and verifying project results	equipment if you had not replaced it early? Also, please explain briefly how you determined this future replacement date.	Please describe the less efficient new equipment that you rejected in favor of the more efficient new equipment.
1	Plant 1 High Output Screws, Oilers and Presses	We have installed Hi- Output screws and new replacement Thermal Heating Units and Presses to allow better control and higher production per hour. See attachments.	See file "MercuryPlasticsPlant1_Supporting KWH Savings Calc_Project 1*	Estimated 10 years. The equipment was working ok and we just replaced with new technolgy to increase production	N/A
2	NEO Beam Upgrade conveyor baskets.	Replacing the design of our baskets on our conveyors we have increased our production 14%.	See file "MercuryPlasticsPlant1_Supporting KWH Savings Calc_Project 2*	The units were in good shape and with preventive maintenance they would have laster an estimated 5 years year 2017.	N/A

Docket No. 14-0223

Site: 15760 Madison Rd, 15825 Old State Rd.

#### Exhibit 2

#### Customer Legal Entity Name: Mercury Plastics, Inc

#### Site: Mercury Plastics, Inc

#### Principal Address: 15760 Madison Rd, 15825 Old State Rd.

	Filicipal Address.	15700 Maulson Ku, 1502					
	2012 2011	Unadjusted Usage, kwh (A) 7,856,508 7 866 304	Weather Adjusted Usage, kwh (B) 3 7,856,508 4 7,866,304	Weather Adjusted Usage with Energy Efficiency Addbacks, kwh (C) 8,259,508 7,866,304	Note 1		
	2010	7,482,431	7,482,431	7,482,431			
	Average	7,735,081	7,735,081	7,869,414			
Project Number	Project Name	In-Service Date	Project Cost \$	KWh Saved/Year Counting towards Utility compliance	KWh Saved/Year (D) eligible for incentive	Utility Peak Demand Reduction Contribution, KW	Commitment Payment \$
1	Plant 1 High Output Screws, Oilers and Presses	01/01/2012	\$143,628	212,710	212,710	-	
2	NEO Beam Upgrade conveyor baskets.	01/01/2012	\$11,055	190,290	190,290	-	
				-	-	-	
				-	-	-	
				-	-	-	
				-	-	-	
				-	-		
			Total	403,000	403,000	0	\$0
Docket No.	14-0223		Savings as percent of usage	5.1%	Note 2		
Site:	15760 Madison Rd, 15825 Old State Rd.		= Total (D) divided by Average (C)				
		Customer	Eligible Exemption Period:	61 Month(s)	Note 3		

#### Notes

(1) Customer's usage is adjusted to account for the effects of the energy efficiency programs included in this application. When applicable, such adjustments are prorated to the in-service date to account for partial year savings.

(2) Savings as a percent of usage is equal to the of total project savings (D) divided by the 3 year average Weather Adjusted Usage with Energy Efficiency Addbacks (C).

(3) Customer exemption determined by savings percentage in relation to energy efficiency schedule as set forth in O.R.C. 4928.66(A)(1)(a).

(4) The exemption period reflects the maximum potential exemption period. NOTE: The FirstEnergy Utilities cannot guarantee the length of the exemption period that will ultimately be approved by the Commission.

#### Exhibit 3 Utility Cost Test

UCT = Utility Avoided	Costs / Utility Costs
-----------------------	-----------------------

Project	Total Annual Savings, MWh (A)	Utili	ty Avoided Cost \$/MWh (B)	Ut	Utility Avoided Cost \$ (C)		Utility Cost Cash Rebate \$ \$ (D) (E)		Administrator Variable Fee \$ (F)	Тс	otal Utility Cost \$ (G)	UCT (H)	
1	213	\$	308	\$	65,574	\$	2,025	\$0	\$2,127	\$	4,152	15.8	
2	190	\$	308	\$	58,663	\$	2,025	\$0	\$1,903	\$	3,928	14.93	
Total	403	\$	308		124,237		4,050	\$0	\$4,030		8,080	15.4	

#### Notes

- (A) From Exhibit 2, = kWh saved / 1000
- (B) This value represents avoided energy costs (wholesale energy prices) from the Department of Energy, Energy Information Administration's 2009 Annual Energy Outlook (AEO) low oil prices case. The AEO represents a national average energy price, so for a better representation of the energy price that Ohio customers would see, a Cinergy Hub equivalent price was derived by applying a ratio based on three years of historic national average and Cinergy Hub prices. This value is consistent with avoided cost assumptions used in EE&PDR Program Portfolio and Initial Benchmark Report, filed Dec 15, 2009 (See Section 8.1, paragraph a).

(C) = (A) \* (B)

- (D) Represents the utility's costs incurred for self-directed mercantile applications for applications filed and applications in progress. Includes incremental costs of legal fees, fixed administrative expenses, etc.
- (E) This is the amount of the cash rebate paid to the customer for this project.
- (F) Based on approximate Administrator's variable compensation for purposes of calculating the UCT, actual compensation may be less.

(G) = (D) + (E) + (F)

(H) = (C) / (G)

#### Mercury Plastics, Inc ~ Mercury Plastics, Inc

Docket No. 14-0223

Site: 15760 Madison Rd, 15825 Old State Rd.

Mercury Plastics - Plant 1 Productivity Projects - Molding and Fabrication

- Molding and Fabrication Department objectives are typically linked to an improvement in a rate of output for a particular operation typically measured in "parts/hour".
- Annually, parts are identified for productivity improvement based on historical performance and future customer requirements.
- Processes are analyzed to determine if there is a more efficient way to accomplish the work resulting in a higher rate of output.
- Incentives are created for individuals to manage the improvement process and track progress throughout the year.
- The Management Staff reviews progress of these projects every 2 weeks in Staff Meetings to identify where progress is lacking and directs activities accordingly to ensure that desired productivity goals are met.

Mercury Plastics – Productivity Projects – Extrusion Department - Plant 1

- Extrusion Department objectives are typically linked to an improvement in a rate of output for a particular raw material typically measured in "pounds/hour".
- Annually, materials are identified for productivity improvement based on previous rates of output and future customer requirements.
- Equipment and processes are analyzed to determine if more output can be achieved through the implementation of new tooling, process aids and changes to the material formulations.
- Vendors of key raw materials are contacted to get their feedback and support for productivity goals.
- Incentives are created for individuals to manage the improvement process and track progress throughout the year.
- The Management Staff reviews progress of these projects every 2 weeks in Staff Meetings to identify where progress is lacking and directs activities accordingly to ensure that desired productivity goals are met.

Mercury Plastics - Plant 1 Productivity Projects - NEO Beam

- NEO Beam productivity improvements have been organized around more efficient use of equipment and labor to maximize throughput for both the reel-to-reel system and the carton material handling system.
  - o Reel-to-Reel System
    - System was adapted to increase the amount of footage on each reel to reduce changeover time while also increasing the actual line speed.
  - o Carton Handling System
    - Labor resources have been assigned to NEO Beam to increase the throughput of assemblies that require special fixtures to achieve desired irradiation dosage.
    - Incentives were created for the labor resources to ensure that the handling system was operated without interruption, thus maximizing the production rate per hour.

### Combined

Plant 1		Target rKWh	215,175		%of Target 99%					
Project	Measure	Machine	P/Hb	P/Ha	Prior Hrs Yr-Yr	Total PPY	Hrs After	Reduced Hrs K	W Factor	Reduced KWh
Aker	Pounds	Line 2	357	368	1,971 2010-2012	703,647	1,912	59	32.00	1,885
Aker	Parts	Line 16	244	265	2,647 2010-2012	645,868	2,437	210	32.00	6,712
Aker	Parts	Line 17	239	260	2,433 2010-2012	581,487	2,236	197	32.00	6,288
GAF	Parts	Line 6	45	55	27 2010-2012	1,215	22	5	32.00	157
Gaskets	Pounds	Line 6	126	133	2,329 2010-2012	293,454	2,206	123	32.00	3,923
OEM Poly Tubes	Pounds	Line 8	164	181	484 2011-2012	79,376	439	45	32.00	1,455
GE Drain Tubes	Pounds	Line 9	226	234	1,163 2011-2012	262,838	1,123	40	32.00	1,272
Dryer Door	Parts	Line 5	850	1,535	3,864 2010-2012	3,284,400	2,140	1,724	32.00	55,178
Engage Tubes	Parts	Line 9	1,069	1,324	203 2010-2012	217,007	164	39	32.00	1,251
	Parts	Press 5	643	672	6,083 2010-2012	3,911,369	5,820	263	17.25	4,528
	Parts	Press 6	695	742	1,928 2011-2012	1,339,960	1,806	122	17.25	2,107
	Parts	Press 10	1,205	1,293	772 2010-2013	930,260	719	53	17.25	906
	Parts	Press 2	620	733	6,519 2010-2013	4,041,780	5,514	1,005	18.92	19,014
	Parts	Press 3	262	275	2,688 2012-2013	704,256	2,561	127	18.92	2,404
	Parts	Press 4	562	576	4,774 2010-2012	2,682,988	4,658	116	18.92	2,195
	Parts	Press 7	571	667	3,432 2010-2012	1,959,672	2,938	494	18.92	9,346
	Parts	Press 8	346	431	6,671 2010-2012	2,308,166	5,355	1,316	18.92	24,892
	Parts	Press 11	737	785	879 2012-2013	647,823	825	54	18.92	1,017
	Parts	Air-Core 1	120	132	1,627 2010-2012	195,240	1,479	148	20.97	3,102
	Parts	Air-Core 2	135	150	1,903 2012-2013	256,905	1,713	190	20.97	3,990
	Parts	Splices	577	623	6,320 2012-2012	3,646,640	5,853	467	0.72	336
	Parts	OVEN EIGHT	89	190	3,451 2010-2013	307,139	1,617	1,834	19.81	36,345
	Parts	OVEN FIVE	200	264	1,521 2012-2013	304,200	1,152	369	19.81	7,305
	Parts	OVEN FOUR	250	265	958 2010-2011	239,500	904	54	19.81	1,074
	Parts	OVEN SEVEN	191	344	946 2010-2012	180,686	525	421	19.81	8,336
	Parts	OVEN SIX	156	159	204 2011-2012	31,824	200	4	19.81	76
	Parts	#1 HEAT PANEL	236	255	2,073 2012-2013	489,228	1,919	154	1.66	256
	Parts	#2 HEAT PANEL	254	273	3,731 2012-2013	947,674	3,471	260	1.66	431
	Parts	#3 HEAT PANEL	199	295	1,446 2010-2013	287,754	975	471	1.66	781
	Parts	129621 PANEL	299	312	819 2010-2013	244,881	785	34	1.66	57
	Parts	12962201 PANEL	322	326	456 2010-2011	146,832	450	6	1.66	9
	Parts	12995101 PANEL	499	504	278 2011-2012	138,722	275	3	1.66	5
	Parts	2317912 PANEL	312	333	74 2010-2011	23,088	69	5	1.66	8
	Parts	44203 PANEL	195	242	1,080 2010-2013	210,600	870	210	1.66	348
	Parts	51152 HT PANEL	121	145	337 2012-2013	40,777	281	56	1.66	93
	Parts	6 919292 FORM	107	155	344 2010-2012	36,808	237	107	1.66	177

Parts	6 919753/5 FORM	161	174	567 2010-2011	91,287	525	42	1.66	Tetal
Parts	7009348 PANEL	150	189	96 2010-2011	14,400	76	20	1.66	33
Parts	9966 PANEL	201	225	36 2010-2011	7,236	32	4	1.66	6
Parts	CUNO 82-2721	330	354	109 2011-2012	35,970	102	7	1.66	12
Parts	FRIG 45027301	207	222	14 2011-2012	2,898	13	1	1.66	2
Parts	GE 1373	211	255	606 2012-2013	127,866	501	105	1.66	174
Parts	GE/MABE PANEL	95	126	1,453 2012-2013	138,035	1,096	357	1.66	593
Parts	LG AIR CORE	224	269	369 2010-2013	82,656	307	62	1.66	102
Parts	LG FORMING	237	278	338 2010-2011	80,106	288	50	1.66	83
Parts	O.MEZ FORM	84	125	103 2011-2012	8,652	69	34	1.66	56
Parts	SUB-ZERO PANEL	178	209	370 2010-2013	65,860	315	55	1.66	91
Parts	W10213221	137	2,141	436 2010-2013	59,732	28	408	1.66	677
Parts	WEST HEAT PANEI	693	813	441 2010-2012	305,613	376	65	1.66	108
Parts	WHIRL 3369414	465	487	790 2010-2011	367,350	754	36	1.66	59
Parts	WP3368 PANEL	279	308	140 2012-2013	39,060	127	13	1.66	22
Parts	WP5337 PANEL	117	144	561 2012-2013	65,637	456	105	1.66	175
Parts	WP6393 PANEL	103	182	549 2012-2013	56,547	311	238	1.66	396
Parts	WP6394 PANEL	129	142	442 2012-2013	57,018	402	40	1.66	67
Parts	WP7956 PANEL	165	205	1,456 2012-2013	240,240	1,172	284	1.66	472
Parts	WP7957 PANEL	119	184	981 2010-2013	116,739	634	347	1.66	575
Parts	WP8085 PANEL	252	392	2,533 2012-2013	638,316	1,628	905	1.66	1,502
Parts	WP8490 PANEL	218	272	528 2010-2013	115,104	423	105	1.66	174
									212,710



Combined

													Prior		After	Reduced
Plant 1		Target rKWh	215,175		%of Target 99%						Prior Hrs.	ĸw	KWh	Hrs. After	KWh	KWh
Project	Measure	Machine	P/Hb	P/Ha l	Prior Hrs Yr-Yr	Total PPY H	rs After	Reduced Hrs	KW Factor	Reduced KWh	1,971	32.00	63072	1,912	61187	1885.30
Aker	Pounds	Line 2	357	368	1,971 2010-2012	703,647	1,912	59	32.00	1,885	2,647	32.00	84704	2,437	77992	6712.39
Aker	Parts	Line 16	244	265	2,647 2010-2012	645,868	2,437	210	32.00	6,712	2,433	32.00	77856	2,236	71568	6288.37
Aker	Parts	Line 17	239	260	2,433 2010-2012	581,487	2,236	197	32.00	6,288	27	32.00	864	22	707	157.09
GAF	Parts	Line 6	45	55	27 2010-2012	1,215	22	5	32.00	157	2,329	32.00	74528	2,206	70605	3922.53
Gaskets	Pounds	Line 6	126	133	2,329 2010-2012	293,454	2,206	123	32.00	3,923	484	32.00	15488	439	14033	1454.67
OEM Poly Tubes	Pounds	Line 8	164	181	484 2011-2012	79,376	439	45	32.00	1,455	1,163	32.00	37216	1,123	35944	1272.34
GE Drain Tubes	Pounds	Line 9	226	234	1,163 2011-2012	262,838	1,123	40	32.00	1,272	3,864	32.00	123648	2,140	68470	55178.42
Dryer Door	Parts	Line 5	850	1,535	3,864 2010-2012	3,284,400	2,140	1,724	32.00	55,178	203	32.00	6496	164	5245	1251.12
Engage Tubes	Parts	Line 9	1,069	1,324	203 2010-2012	217,007	164	39	32.00	1,251	6,083	17.25	104931.75	5,820	100403	4528.30
	Parts	Press 5	643	0/2	0,085 2010-2012	3,911,309	5,820	203	17.25	4,528	1,928	17.25	33258	1,806	31151	2106.64
	Parts	Press 0	1 205	1 202	772 2010 2012	1,339,900	1,806	122	17.25	2,107	6510	17.25	1331/	5 514	12411	906.34
	Parts	Press 10 Press 2	1,205	1,293	6 510 2010 2013	930,200	5 5 1 4	23	17.25	906	6,519	18.92	123339.48	2,514	104325	19014.14
	Parts	Proce 2	262	275	2.688 2012 2013	704 256	2.561	1,005	18.92	2 404	2,008	18.92	00224.08	4.658	48433	2404.13
	Parts	Press 4	562	576	4 774 2010-2012	2 682 988	4 658	116	18.92	2,404	4,774	18.92	64933.44	2 938	55588	9345 74
	Parts	Press 7	571	667	3 432 2010-2012	1 959 672	2 938	494	18.92	9 346	6 671	18.92	126215 32	5 355	101324	24891.65
	Parts	Press 8	346	431	6.671 2010-2012	2,308,166	5,355	1.316	18.92	24,892	879	18.92	16630.68	825	15614	1016.91
	Parts	Press 11	737	785	879 2012-2013	647,823	825	54	18.92	1,017	1,627	20.97	34116.563	1,479	31015	3101.51
	Parts	Air-Core 1	120	132	1,627 2010-2012	195,240	1,479	148	20.97	3,102	1,903	20.97	39904.007	1,713	35914	3990.40
	Parts	Air-Core 2	135	150	1,903 2012-2013	256,905	1,713	190	20.97	3,990	6,320	0.72	4550.4	5,853	4214	335.98
	Parts	Splices	577	623	6,320 2012-2012	3,646,640	5,853	467	0.72	336	3,451	19.81	68371.212	1,617	32027	36344.70
	Parts	OVEN EIGHT	89	190	3,451 2010-2013	307,139	1,617	1,834	19.81	36,345	1,521	19.81	30134.052	1,152	22829	7305.22
	Parts	OVEN FIVE	200	264	1,521 2012-2013	304,200	1,152	369	19.81	7,305	958	19.81	18979.896	904	17906	1074.33
	Parts	OVEN FOUR	250	265	958 2010-2011	239,500	904	54	19.81	1,074	946	19.81	18742.152	525	10406	8335.90
	Parts	OVEN SEVEN	191	344	946 2010-2012	180,686	525	421	19.81	8,336	204	19.81	4041.648	200	3965	76.26
	Parts	OVEN SIX	156	159	204 2011-2012	31,824	200	4	19.81	76	2,073	1.66	3441.18	1,919	3185	256.40
	Parts	#1 HEAT PANEL	236	255	2,073 2012-2013	489,228	1,919	154	1.66	256	3,731	1.66	6193.46	3,471	5762	431.05
	Parts	#2 HEAT PANEL	254	2/3	3,731 2012-2013	947,674	3,471	260	1.66	431	1,446	1.00	2400.36	9/3	1619	/81.13
	Parts	129621 PANEL	200	293	819 2010-2013	267,734	785	4/1	1.00	57	619	1.00	1359.54	450	748	9 29
	Parts	12962201 PANEL	322	326	456 2010-2011	146 832	450		1.66	9	278	1.66	461.48	275	457	4 58
	Parts	12995101 PANEL	499	504	278 2011-2012	138 722	275	3	1.66	5	74	1.66	122.84	69	115	7 75
	Parts	2317912 PANEL	312	333	74 2010-2011	23,088	69	5	1.66	8	1.080	1.66	1792.8	870	1445	348.19
	Parts	44203 PANEL	195	242	1,080 2010-2013	210,600	870	210	1.66	348	337	1.66	559.42	281	467	92.59
	Parts	51152 HT PANEL	121	145	337 2012-2013	40,777	281	56	1.66	93	344	1.66	571.04	237	394	176.84
	Parts	6 919292 FORM	107	155	344 2010-2012	36,808	237	107	1.66	177	567	1.66	941.22	525	871	70.32
	Parts	6 919753/5 FORM	161	174	567 2010-2011	91,287	525	42	1.66	70	96	1.66	159.36	76	126	32.88
	Parts	7009348 PANEL	150	189	96 2010-2011	14,400	76	20	1.66	33	36	1.66	59.76	32	53	6.37
	Parts	9966 PANEL	201	225	36 2010-2011	7,236	32	4	1.66	6	109	1.66	180.94	102	169	12.27
	Parts	CUNO 82-2721	330	354	109 2011-2012	35,970	102	7	1.66	12	14	1.66	23.24	13	22	1.57
	Parts	FRIG 45027301	207	222	14 2011-2012	2,898	13	1	1.66	2	606	1.66	1005.96	501	832	173.58
	Parts	GE 13/3	211	255	606 2012-2013	127,866	501	105	1.66	1/4	1,453	1.66	2411.98	1,096	1819	593.42
	Parts	GE/MABE PANEL	. 95	120	1,455 2012-2015	138,035	1,096	357	1.00	593	309	1.00	612.54	307	510	102.47
	Parts	LG AIR CORE	224	209	338 2010-2011	80,106	288	50	1.00	83	338	1.00	170.98	288	4/0	62.75 56.08
	Parts	O MEZ FORM	84	125	103 2011-2012	8 652	60	34	1.66	56	370	1.66	614.2	315	573	91.10
	Parts	SUB-ZERO PANEI	178	209	370 2010-2013	65 860	315	55	1.66	91	436	1.66	723 76	28	46	677.45
	Parts	W10213221	137	2.141	436 2010-2013	59,732	28	408	1.66	677	441	1.66	732.06	376	624	108.05
	Parts	WEST HEAT PAN	E 693	813	441 2010-2012	305,613	376	65	1.66	108	790	1.66	1311.4	754	1252	59.24
	Parts	WHIRL 3369414	465	487	790 2010-2011	367,350	754	36	1.66	59	140	1.66	232.4	127	211	21.88
	Parts	WP3368 PANEL	279	308	140 2012-2013	39,060	127	13	1.66	22	561	1.66	931.26	456	757	174.61
	Parts	WP5337 PANEL	117	144	561 2012-2013	65,637	456	105	1.66	175	549	1.66	911.34	311	516	395.58
	Parts	WP6393 PANEL	103	182	549 2012-2013	56,547	311	238	1.66	396	442	1.66	733.72	402	667	67.17
	Parts	WP6394 PANEL	129	142	442 2012-2013	57,018	402	40	1.66	67	1,456	1.66	2416.96	1,172	1945	471.60
	Parts	WP7956 PANEL	165	205	1,456 2012-2013	240,240	1,172	284	1.66	472	981	1.66	1628.46	634	1053	575.27
	Parts	WP7957 PANEL	119	184	981 2010-2013	116,739	634	347	1.66	575	2,533	1.66	4204.78	1,628	2703	1501.71
	Parts	WP8085 PANEL	252	392	2,533 2012-2013	638,316	1,628	905	1.66	1,502	528	1.66	876.48	423	702	174.01
	Parts	WP8490 PANEL	218	272	528 2010-2013	115,104	423	105	1.66	174						
Iotal										212,710	89,353	648.11	######################################	75,290	########### new	212,709.65

 Prior KWh
 After KWh
 Reduced KWh

 ###########
 (-)
 ############
 (=)
 212,709.65

## NeoBeam

To operate and n	nake parts in 2010 we consumed	1,392,679.00	KWh
To operate and n	nake the same amount of parts in 2011 we consumed	1,176,552.00	KWh
To operate and n	nake the same amount of parts in 2012 we consumed	1,179,389.00	KWh
	Year		
	2010	1,392,679.00	KWh
	2012 (-)	1,179,389.00	KWh
	(=	) 213,290.00	KWh Reduced
	(-)	23,000.00	Lighting Rebate
	(=	) 190,290.00	
	Old KWh	1,392,679	
	Lighting Rebate KWh	23,000	
	New KWh	1,179,389	
	New Reduced KWh	190,290	

## <u>Mercantile Customer Project Commitment Agreement</u> <u>Exemption Option</u>

**THIS MERCANTILE CUSTOMER PROJECT COMMITMENT AGREEMENT** ("Agreement") is made and entered into by and between The Cleveland Electric Illuminating Company, its successors and assigns (hereinafter called the "Company") and Mercury Plastics, Inc (Plant 1), and NEO Beam its permitted successors and assigns (hereinafter called the "Customer") (collectively the "Parties" or individually the "Party") and is effective on the date last executed by the Parties as indicated below.

### **WITNESSETH**

**WHEREAS**, the Company is an electric distribution utility and electric light company, as both of these terms are defined in R.C. § 4928.01(A); and

**WHEREAS**, Customer is a mercantile customer, as that term is defined in R.C. § 4928.01(A)(19), doing business within the Company's certified service territory; and

**WHEREAS,** R.C. § 4928.66 (the "Statute") requires the Company to meet certain annual energy efficiency and peak demand reduction ("EE&PDR") benchmarks; and

WHEREAS, when complying with certain EE&PDR benchmarks the Company may include the effects of mercantile customer-sited EE&PDR projects; and

**WHEREAS**, Customer has certain customer-sited demand reduction, demand response, or energy efficiency project(s) as set forth in attached Exhibit 1 (the "Customer Energy Project(s)") that it desires to commit to the Company for integration into the Company's Energy Efficiency & Peak Demand Reduction Program Portfolio Plan ("Company Plan") that the Company will implement in order to comply with the Statute; and

**WHEREAS**, the Customer, pursuant to and consistent with the Statute, desires to pursue exemption from paying charges included in the Company's then current cost recovery mechanism (hereinafter, "Rider DSE") as approved by the Public Utilities Commission of Ohio ("Commission") for recovery of the DSE2 costs associated with the Company Plan; and is committing the Customer Energy Project(s) as a result of such exemption.

**WHEREAS**, Customer's decision to commit its Customer Energy Project(s) to the Company for inclusion in the Company Plan has been reasonably encouraged by the possibility of an exemption; and

**WHEREAS**, in consideration of, and upon receipt of, said exemption, Customer has consented to committing the Customer Energy Project(s) to the Company and complying with all other terms and conditions set forth herein, including without limitation, the submission of an annual report on the energy savings and/or peak-demand reductions achieved by the Customer Energy Project(s).

**NOW THEREFORE**, in consideration of the mutual promises set forth herein, and for other good and valuable consideration, the receipt and sufficiency of which is hereby acknowledged, the parties, intending to be legally bound, do hereby agree as follows:

1. **Customer Energy Projects.** Customer hereby commits to the Company and Company accepts for integration into the Company Plan the Customer Energy Project(s) set forth on attached Exhibit 1. Said commitment shall be for the life of the Customer Energy Project(s). Company will incorporate said project(s) into the Company Plan to the extent that such projects qualify. In so committing, and as evidenced by the affidavit attached hereto as Exhibit A, Customer

acknowledges that the information provided to the Company about the Customer Energy Project(s) is true and accurate to the best of its knowledge.

- a. By committing the Customer Energy Project(s) to the Company, Customer acknowledges and agrees that the Company shall control the use of the kWh and/or kW reductions resulting from said projects for purposes of complying with the Statute. By committing the Customer Energy Project(s), Customer further acknowledges and agrees that the Company shall take ownership of the energy efficiency capacity rights associated with said Project(s) and shall, at its sole discretion, aggregate said capacity into the PJM market through an auction. Any proceeds from any such bids accepted by PJM will be used to offset the costs charged to the Customer and other of the Company's customers for compliance with state mandated energy efficiency and/or peak demand requirements.
- b. The Company acknowledges that some of Customer's Energy Projects contemplated in this paragraph may have been performed under certain other federal and/or state programs in which certain parameters are required to be maintained in order to retain preferential financing or other government benefits (individually and collectively as applicable, "Benefits"). In the event that the use of any such project by the Company in any way affects such Benefits, and upon written request from the Customer, Company will release said Customer's Energy Project(s) to the extent necessary for Customer to meet the prerequisites for such Benefits. Customer acknowledges that such release (i) may affect Customer's other requirements or obligations, including without limitation any reporting requirements, as set forth herein.
- c. Any future Customer Energy Project(s) committed by Customer shall be subject to a separate application and, upon approval by the Commission, said projects shall become part of this Agreement.
- d. Customer will provide Company or Company's agent(s) with reasonable assistance in the preparation of a joint application for approval of this Agreement ("Joint Application") that will be filed with the Commission, with such Joint Application being consistent with then current Commission requirements.
- e. Upon written request and reasonable advance notice, Customer will grant employees or authorized agents of either the Company or the Commission reasonable, pre-arranged access to the Customer Energy Project(s) for purposes of measuring and verifying energy savings and/or peak demand reductions resulting from the Customer Energy Project(s). It is expressly agreed that consultants of either the Company or the Commission are their respective authorized agents.
- 2. Joint Application to the Commission. The Parties will submit the Joint Application using the Commission's standard "Application to Commit Energy Efficiency/Peak Demand Reduction Programs" in which they will seek the Commission's approval of (i) this Agreement: (ii) the commitment of the Customer Energy Project(s) for inclusion in the Company Plan; and (iii) the Customer's exemption from paying the DSE2 charge of the Company's Rider DSE.

The Joint Application shall include all information as set forth in the Commission's standard form which, includes without limitation:

- i. A narrative description of the Customer Energy Project(s), including but not limited to, make, model and year of any installed and/or replaced equipment;
- ii. A copy of this Agreement; and

iii. A description of all methodologies, protocols, and practices used or proposed to be used in measuring and verifying program results.

3. **Customer Exemption and Annual Report**. Upon Commission approval of the request for exemption, the Company will exempt Customer from paying any Rider DSE charges consistent with any Commission directives as set forth in the Commission's Finding and Order approving the Joint Application. Such exempt status shall apply to those accounts identified by Customer that pertain to those Customer sites with one or more Customer Energy Project(s) approved for integration into the Company Plan by the Commission in the Joint Application.

- a. For purposes of this Agreement, a "site" shall be a single location with one or more facilities. As examples only, a site includes an industrial plant, a hospital complex or a university located on one or more parcels of land, provided that said parcels are contiguous.
- b. For purposes of this Agreement, an "account" shall be as defined by the Company through its normal business practices. Any account identified by Customer shall be eligible for exemption, provided that said account pertains to a specific site with at least one Customer Energy Project that qualifies Customer for exemption from paying Rider DSE charges.
- c. Any new accounts created at a site on which there is already an approved Customer Energy Project shall, at the option of the Customer, be included within the exemption granted under said project, and shall be included for purposes of calculating future eligibility for exemption under the project. Any such election shall become effective in the first billing cycle after March 15<sup>th</sup> following identification of said account in the annual report required under Section 3(d)(iii) below.
- d. Customer acknowledges and agrees that if it desires to pursue such exempt status, as evidenced in the Joint Application, Customer is obligated to provide to the Company an annual report on the energy savings and peak-demand reductions achieved by the Customer Energy Project(s) on a calendar year basis. Company shall provide Customer with such information as it may require, that is in Company's possession, for the purposes of preparing such report. Company shall provide a template for Customer to use in preparing the annual report and shall make available a designated Company representative to answer questions.
  - i. Said report shall be submitted annually on or before January 31 of each year after Commission approval of the Joint Application.
  - ii. Said report shall provide all information required under the Rules, and where the requirements of the Rules conflict with a requirement under this Agreement or the Joint Application, the requirements of the Rules shall control.
  - iii. Said report shall, at a minimum, include the following information for each Customer Energy Project that has been approved by the Commission:
    - A demonstration that the energy savings and peak-demand reductions associated with the Customer Energy Project(s) meet the total resource cost test or that the Company's avoided cost exceeds the cost to the Company for the Customer's program;
    - 2. A statement distinguishing programs implemented before and after January 1 of the current year;

- 3. A quantification of the energy savings or peak-demand reductions for programs initiated prior to 2009 in the baseline period;
- 4. A recognition that the Company's baselines have been increased by the amount of mercantile customer energy savings and demand reductions;
- 5. A listing and description of the Customer Energy Projects that have been implemented, which provides the detail required by the Rules;
- 6. An accounting of expenditures made by the mercantile customer for each program and its component energy savings and peak-demand reduction attributes; and
- 7. A timeline showing when each Customer Energy Project went into effect and when the energy savings and peak-demand reductions occurred.
- 8. Any other information reasonably necessary for the Company to (i) verify Customer's continued eligibility for exemption from paying Rider charges; and (ii) report in the Company's annual status report to the Commission the EE&PDR results related to each Customer Energy Project.
- e. Customer's exemption shall automatically terminate:
  - i. At the end of the exemption period as determined by the Commission
  - ii. Upon order of the Commission or pursuant to any Commission rule;
  - iii. If Customer fails to comply with the terms and conditions set forth in the Company's then current Rider DSE, or its equivalent, as amended from time to time by the Commission, within a reasonable period of time after receipt of written notice of such non-compliance;
  - iv. If it is discovered that Customer knowingly falsified any documents provided to the Company or the Commission in connection with this Agreement or the Joint Application. In such an instance, Company reserves the right to recover any exempted rider charges from the date of approval of the Joint Application through the date said exemption is terminated; or
  - v. If Customer fails to submit the annual report required in (d) above. In such an instance, Company reserves the right to recover any exempted rider charges from the date of approval of the Joint Application through the date said exemption is terminated. It is expressly agreed that this provision shall not apply should said report contain errors, provided that the submission of said report is made in good faith. It is further agreed that the Company will provide written notice of the date on which said report is due at least thirty (30) days prior thereto.
- f. Company reserves the right to recover from Customer any Rider DSE charges incurred by Customer after the date Customer's exemption terminates.
- 3. Termination of Agreement. This Agreement shall automatically terminate:
  - a. If the Commission fails to approve this Agreement through the Joint Application;

- b. Upon order of the Commission; or
- c. At the end of the life of the last Customer Energy Project subject to this Agreement.

Customer shall also have an option to terminate this Agreement should the Commission not approve the Customer's exemption, provided that Customer provides the Company with written notice of such termination within ten days of either the Commission issuing a final appealable order or the Ohio Supreme Court issuing its opinion should the matter be appealed.

Customer acknowledges that if a Customer Project is withdrawn pursuant to Paragraph 1(b) of this Agreement, the exemption or a portion of such exemption may be affected. Should Customer elect to withdraw a project pursuant to Paragraph 1(b), Customer shall provide Company with reasonable assistance in preparing any documentation that may be required by the Commission and, upon reasonable request, shall provide documentation supporting the necessity to withdraw such project.

- 4. Confidentiality. Each Party shall hold in confidence and not release or disclose to any person any document or information furnished by the other Party in connection with this Agreement that is designated as confidential and proprietary ("Confidential Information"), unless: (i) compelled to disclose such document or information by judicial, regulatory or administrative process or other provisions of law; (ii) such document or information is generally available to the public; or (iii) such document or information was available to the receiving Party on a non-confidential basis at the time of disclosure.
  - a. Notwithstanding the above, a Party may disclose to its employees, directors, attorneys, consultants and agents all documents and information furnished by the other Party in connection with this Agreement, provided that such employees, directors, attorneys, consultants and agents have been advised of the confidential nature of this information and through such disclosure are deemed to be bound by the terms set forth herein.
  - b. A Party receiving such Confidential Information shall protect it with the same standard of care as its own confidential or proprietary information.
  - c. A Party receiving notice or otherwise concluding that Confidential Information furnished by the other Party in connection with this Agreement is being sought under any provision of law, to the extent it is permitted to do so under any applicable law, shall endeavor to: (i) promptly notify the other Party; and (ii) use reasonable efforts in cooperation with the other Party to seek confidential treatment of such Confidential Information, including without limitation, the filing of such information under a valid protective order.
  - d. By executing this Agreement, Customer hereby acknowledges and agrees that Company may disclose to the Commission or its Staff any and all Customer information, including Confidential Information, related to a Customer Energy Project, provided that Company uses reasonable efforts to seek confidential treatment of the same.
- 5. **Taxes.** Customer shall be responsible for all tax consequences (if any) arising from the application of the exemption.
- 6. **Notices**. Unless otherwise stated herein, all notices, demands or requests required or permitted under this Agreement must be in writing and must be delivered or sent by overnight express mail, courier service, electronic mail or facsimile transmission addressed as follows:

#### If to the Company:

--.

FirstEnergy Service Company 76 South Main Street Akron, OH 44308 Attn: Victoria Nofziger Telephone: 330-384-4684 Fax: 330-761-4281 Email: vmnofziger@firstenergycorp.com

If to the Customer: Customer Name MERCURT PLASTICS, INC. Street Address 15760 MADISON RD P.O. SUX989 City, State Zip MIDOLE FIECD, OH 44062 Attn: JAY EVANS Telephone: 440-632-5281 Fax: 440-632-5506 Email: JEVANS@MERCURY-PLASTICS.COM

or to such other person at such other address as a Party may designate by like notice to the other Party. Notice received after the close of the business day will be deemed received on the next business day; provided that notice by facsimile transmission will be deemed to have been received by the recipient if the recipient confirms receipt telephonically or in writing.

- 7. Authority to Act. The Parties represent and warrant that they are represented by counsel in connection with this Agreement, have been fully advised in connection with the execution thereof, have taken all legal and corporate steps necessary to enter into this Agreement, and that the undersigned has the authority to enter into this Agreement, to bind the Parties to all provisions herein and to take the actions required to be performed in fulfillment of the undertakings contained herein.
- 8. **Non-Waiver**. The delay or failure of either party to assert or enforce in any instance strict performance of any of the terms of this Agreement or to exercise any rights hereunder conferred, shall not be construed as a waiver or relinquishment to any extent of its rights to assert or rely upon such terms or rights at any later time or on any future occasion.
- 9. Entire Agreement. This Agreement, along with related exhibits, and the Company's Rider DSE, or its equivalent, as amended from time to time by the Commission, contains the Parties' entire understanding with respect to the matters addressed herein and there are no verbal or collateral representations, undertakings, or agreements not expressly set forth herein. No change in, addition to, or waiver of the terms of this Agreement shall be binding upon any of the Parties unless the same is set forth in writing and signed by an authorized representative of each of the Parties. In the event of any conflict between Rider DSE or its equivalent and this document, the latter shall prevail.
- 10. Assignment. Customer may not assign any of its rights or obligations under this Agreement without obtaining the prior written consent of the Company, which consent will not be unreasonably withheld. No assignment of this Agreement will relieve the assigning Party of any of its obligations under this Agreement until such obligations have been assumed by the assignee and all necessary consents have been obtained.
- 11. Severability. If any portion of this Agreement is held invalid, the Parties agree that such invalidity shall not affect the validity of the remaining portions of this Agreement, and the Parties further agree to substitute for the invalid portion a valid provision that most closely approximates the economic effect and intent of the invalid provision.

- 12. **Governing Law**. This Agreement shall be governed by the laws and regulations of the State of Ohio, without regard to its conflict of law provisions.
- 13. Execution and Counterparts. This Agreement may be executed in multiple counterparts, which taken together shall constitute an original without the necessity of all parties signing the same page or the same documents, and may be executed by signatures to electronically or telephonically transmitted counterparts in lieu of original printed or photocopied documents. Signatures transmitted by facsimile shall be considered original signatures.

**IN WITNESS WHEREOF,** the Parties hereto have caused this Agreement to be executed by their duly authorized officers or representatives as of the day and year set forth below.

Please Select Operating Company

(Company) a By: Title. VP of Energy Efficiency

-10-14 2 Date:

(Customer) By: CFO Title: 5/6/2013 Date:

#### Affidavit of Customer Legal Name - Exhibit A

## STATE OF OHIO ) COUNTY OF Decure )

I, Name, being first duly sworn in accordance with law, deposes and states as follows:

SS:

- 1. I am the Title of Customer Name ("Customer") As part of my duties, I oversee energy related matters for the Customer.
- The Customer has agreed to commit certain energy efficiency projects to Please Select Operating Company ("Company"), which are the subject of the agreement to which this affidavit is attached ("Project(s)").
- 3. In exchange for making such a commitment, the Company has agreed to provide Customer with a Rider Exemption ("Incentive"). This Incentive was a critical factor in the Customer's decision to go forward with the Project(s) and to commit the Project(s) to the Company.
- 4. All information related to said Project(s) that has been submitted to the Company is true and accurate to the best of my knowledge.

FURTHER AFFIANT SAYETH NAUGHT.

hu Um

Sworn to before me and subscribed in my presence this <u>7</u> day of <u>May</u>, 2013.

Notarv

Roswitha Renovich Notary Public, State of Ohio My Commission Expires August 30, 2015 Recorded in Geauga County

## This foregoing document was electronically filed with the Public Utilities

Commission of Ohio Docketing Information System on

4/9/2014 2:47:23 PM

in

Case No(s). 14-0223-EL-EEC

Summary: Application to Commit Energy Efficiency/Peak Demand Reduction Programs of The Cleveland Electric Illuminating Company and Mercury Platics, Inc (Plant 1) and NEO Beam electronically filed by Ms. Jennifer M. Sybyl on behalf of The Cleveland Electric Illuminating Company and Mercury Platics, Inc (Plant 1) and NEO Beam